Nemissions

—

d
N @ (RAR) |
=

o)

Ratio to ATLAS

n (1/2)

=
N

0.6

0.4

0.2

0.5

13000 GeV pp Jets
T r ot ro ottt T
B IN(R/A R) (Lund plane 2.08<In(1/z)<2.36) |
| m ATLAS |
| —A— Pythia 6.428 370 |
| A Pythia 6.428 373 —]
— --©O-- Pythia 6.428 374 7
— Pythia 6.428 375 .
[~ --&-- Pythia 6.428 381 m
| - ¥- Pythia 6.428 382 ]
_l 1 | | | | | | | | | | | | | | | | | | | | _I
:l T T T T | T T T T | T T T T | T T T T | T :I
_ g _

| " 1 1 1 1 | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1

0 1 2 3 4

In (RIA R)

Rivet 3.1.10, = 1.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


